SPRAY GUN FOR CITRUS

P-10

ltem [Code Description QT.| [item [Code Description [aT. |
00 [ 114520 |Spray gun for citrus 1
01| 114678 |Nut- @ 3/4" UNF 1
02 | 622837 |Disk no. 11 1
03 11676 |Sealing ring - OR1-111 1
04 [ 114660 |Nozzle body 1
05| 114652 |Bushing 1
06 | 114629 [Conductor 1
07 | 114645 |Swirl nozzle 1
08 | 114637 |Guide 1
09 114611 |Extension 1
10 [ 204131 [Nut- @ 1/4" UNF x 4.9 2
11| 114595 [Valve body 1
12 | 114553 |Bolt- @ 7/16" UNC x 3/4" x 125 1
13| 114587 |Ring - 220.6 x 4 1
14 | 114579 |Gasket - 3/16" x 50 mm 1
15| 114561 [Nut- g 7/8" UNF 1
16 | 916627 [Nut-7/16"- 14 UNC 1
17 | 912998 [Locking washer - 7/16" 1
18 | 114538 |Cable with thread - 7/16" 1
19| 413310 [Hose fitting @ 12.7 (1/2") 1

Controlled copy - Distribution and reproduction prohibited

1/1




